VCE & PDF https://www.passapply.com/e20-065.html
2024 Latest passapply E20-065 PDF and VCE dumps Download

PassApply.com

E20-065%¢AS

Advanced Analytics Specialist Exam for Data Scientists

Pass EMC E20-065 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.passapply.com/e20-065.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by EMC
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

E20-065 VCE Dumps | E20-065 Practice Test | E20-065 Exam Questions 1/3


https://www.passapply.com/e20-065.html
https://www.passapply.com/e20-065.html
https://www.passapply.com/e20-065.html

VCE & PDF https://www.passapply.com/e20-065.html

2024 Latest passapply E20-065 PDF and VCE dumps Download
P-

1I8S Annlv com
doof ’-_:Jl'l_\f.-.-w-

QUESTION 1

Which representation is most suitable for a small and highly connected network?
A. Edge list

B. Adjacency matrix

C. Eigenvector centrality

D. Adjacency list

Correct Answer: B

QUESTION 2

What do lemmatization and stemming have in common?
A. Use WordNet

B. Remove common words in a natural language

C. Reduce the high dimensionality in text

D. Use a set of heuristics

Correct Answer: C

QUESTION 3

Which scenario is a proper use case for multinomial logistic regression?

A. A marketing firm wants to estimate the personal income of a group of potential customers. Using inputs such as age,
education, marital status, and credit card expenditures, a data scientist is building a model that will estimate a person\\'s

income

B. A logistic distribution company wants to minimize the distance traveled by its delivery trucks. A data scientist is
building a model to determine the optimal route for each of tis trucks

C. To improve the initial routing of a loan application, a financial institution plans to classify a loan application as
Approve, Reject, or Possibly_Approve. Based on the company\\'s historical loan application data, a data scientist is
building a model to assign one of these three outcomes to each submitted application.

D. A manufacturer plans to determine the optimal number of workers to employ in an assembly line process. Utilizing
the observed distributions of the task durations of each process step, a data scientist is building a model to mimic the
interactions and dependencies between each stage in the manufacturing process.

Correct Answer: C
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QUESTION 4

After a client submits a job request to the YARN ResourceManager, what happens next?
A. The scheduler allocates a container to run an ApplicationMaster

B. The ResourceManager allocates containers to run map and reduce tasks

C. The Resource Manager requests load data from the NodeManagers

D. The ApplicationManager starts an ApplicationMaster

Correct Answer: D

QUESTION 5

Which HDFS feature protects against user errors causing accidental loss of data?
A. Encryption

B. Replication

C. Namenode federation

D. Snapshots

Correct Answer: B
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